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Ahmed Ata s Final Revision for Grade 11 AD

1
- Which of the following is a characteristic of a negatively-skewed
distribution?
a) The mean is less than the median.
b) The mean is greater than the median.
C) The majority of the data are on the left of the mean.

d) The mean and median are approximately equal.

n At Khawla's telemarketing job,15 %, of the calls that she makes to
potential customers result in a sale. She makes 20 calls in a given hour.

What is the probability that 5 calls result in a sale?

a} 6.7 %
b) 10.3%
c) 83%
d} 11.9%
ﬂ In a normal distribution with standard deviation o = 4 and X = 24, what is
the value of the mean u if z = —1.25?
a) u=16
b) u=29
c) u=63
d) p=19
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Which function is an even function?

a) Sl = -3

h) f(x)=x*-3x*
3

c) f=<

d) fx)=vx-2

Bx
VZx+6

State the domain of the function g(x) =

a)  [0)
b) (3)
) (-3)
d [-3.)

Which function has an infinite discontinuity?
3) f(x) =x% —x*

1
f(x) =
h) 2x—9

) @ s

x* —49
x—7
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The average age of the visitors to a museum is 40.7. Assume that the distribution is normal with a

standard deviation of 2.3.

The probability that the age of a randomly selected visitor is less than 40 =

a) 38% b) 8.7%

c) 83% d) - 0.30

The average age of the visitors to a museum is 40.7. Assume that the distribution is normal with a
standard deviation of 2.3.

If a sample of 20 visitors is selected, the probability that the mean age of the sample will be less than 40 =

a) 38% b) 8.7%

c) 83% d) - 0.30

n You are recording the weight, in Kgs, of a group of 50 people. In this dataset, the average weight is 60
kg, and the standard deviation is 4 kg. What percentage of the people’s weight in there in the range of
52-68 Kgs? The dataset is normally distributed.

a) 34% b) 68%

c) 95% d) 99%
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Find f(—9) for f(x) = {—3Ix +5] if <1

-9 if x>1
EI) —42
b) 12
c) -12
d 1

What is the type of discontinuity at x = 37

y
ﬁxﬁz{f_: fx#3 |8 7]
a) nonremovable 3 Wxm3lla |

b) iump A

—8 A 10| | 4 | Bx

c) infinite (7 o ) A
—8

d} removable

Use the graph of g(x) to find the domain and range of the function.

a) D=(-»2]R=(-3w)

b) D= (-w,~3),R = (x|xeR)

C) D = {x|xeR},R = (-, 3]

d) 0= [2@)R=(--3)
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Determine the coordinates of the
absolute extremum of the function

fix)=2(x + 3)* + 5 and state

whether it is a maximum or minimum value.

EI} (—3,5); maximum E) (—=3,5); minimum
h) (3.5); maximum d} (3,5); minimum
14 Find the average rate of change of

the function g(x) = 3x* —8x + 2
on the interval [—2,0]|

H} 14 C) oy

b) 14 d) -

Given that f(x) = x* + 5x+ 6 and  g(x) = x + 2, find (f + g)(x).

) o)) =x"+4x+4 ) (+@x)=x'+4x+8

h) (f+g)x)=-x*—4x-4 d) (f+g)x)=x+6x+8
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The trunk diameter of a certain variety of an oak tree is normally distributed with a mean of 150 cm
and a standard deviation of 30 cm. Which normal curve describes the distribution?

AN L

T T T T
150 180 210 240 M0 30 330

CJ
T T
70 80 e 130 15¢ 170 180

E-
E-‘-

120 150 120 210 240

§...

o 50 o0 150 ) 250

A school is starting a peer tutoring ECA club. The school's focus is on students whose scores fall in
the outside 15% of the data set. Some of these students will be supporting the others. The scores are

normally distributed with a mean, y of 85% and a standard deviation of 10.

The school's focus is on students whose scores are between

a) 60.3 and 88.2 b) 69.1 and 88.5

c) 70.7 and 90.3 d) 70.7 and 98.3
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If f(x) = V&x, find g(x) so that

lg = f](x) = 200x + 25.

a) g(x) = 50x + 25
h} glx) =+800x + 25

c) g(x) = 50x% + 25

d} g(x) = 50x*

Find the inverse of f(x) = 2,/x— 3.

2
a] f_'{1]=‘—,:\-f+3.x?:ﬂ c] f"{x]:(x-;a} rx >3
h} f‘l(sz{xzif. >3 d} i'"(ﬂ=%ﬁ-3:xal]
Find the value lim 215,
x== =3
3) é c)
d 1
b) -o )
Find the valuelim —>*-*7,
x—on Sx+l
b] 2 d} oo
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22

Suppose the width in millimeters of
Find the width of the animal's pupils when the

light is at its maximum illuminance.

an animal’s pupil is given by

- 152x~ 945485
d(x) = “e-tigse * where x is the

illuminance of the light shining on
the pupils measured in lux.

152x°% 4+ 85 -045
= 152x°"% 4 85
) m g = 8 S, ¢ ISy =oSmm

1522945 + 85
= — d) lim e = J8mm

-0 4x 945410 - 4x-945 410

B Find the width of the animal's pupils when the
light is at its minimum illuminance.

) li 1525 + 85 =8.5 } 152x~945 4 85
a m -y = 8.5 mm c . x” +
x—0 4x-045 4 10 =
!:‘P& 4x-045 4 10 38 mm

152x~94% 4 85
b im 1o =38mm d . 152t i8s
i 4x-0% 10 oo mm

Consider the graph of ¥ = f(x) 1] [y ]
shown. What is t"',]_'!‘}— flx)? aE
=
B W

a) -1 c) o

b d) 3

~ The limit does not exist.
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The exam score are normally distributed with ¢ = 77 and ¢ = 7. Hamda expects to earn a grade in the
middle 80% of the distribution. What range of scores fall in this category?

Hamda expects to score between

a) 69 and 85 b) 69 and 90

c) 55 and 85 d) 67 and 92

The height of grade 11 boys in UAE is approximately normally distributed with a mean of 180 cmand a
standard deviation of 7 em. What is the probability that a randomly chosen 11th grade boy would be

taller than 170 cm?
a)  0.0222 c) 0.4234
b)  0.0766 d) -1.4286
Compare the two distributions.
o—— & [ ] —a
+ + + + + + + + + + + Location A
4 5 1] 7 8 9 10 1 12 13 14 15 16
»>— L ] »—a
Location B

4 L 1 7 8 g 10 11 12 13 14 13 16

The five-number summaries are used to

Both box-and-whisker plots are
compare the two distributions C

EI) symmetric.

h) The mean and standard deviation are )

Both distributions have the same mean
used to compare the two distributions

but a different median
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Find the slope of the line tangent to
the graph of function if y = x* + 4
at the point (—1,5).

Find the derivative of
f(x) = (3x* + 2x) (5 + 3x).

ﬂ} f(x) = (-3)(3x* + 2x) + (12x* + 2)(5 + 3x)

h} f(x) = (12x" + 2) (5 + 3x) + (5)(3x* + 2x)

C} f(x)=(12x* + 2) (5 + 3x) + 3(3x* + 2x)

d) rmw=02+2)(-3

Determine the coordinates of the
absolute extremum of the function
f(x) = 2(x — 3)* +5 and state
whether it is a maximum or

minimum value.

ke iuit(—3,5)

(=3,5): maximum

a) wieisi(-35)

(—3,5); minimum

h) Shaiadi(3,5) oelae 14(3,5)

(3,5); minimum d) (3,5); maximum
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31

- Find the average rate of change of
the function g(x) = 32> —8x+ 2
on the interval [0, 2].

a) 2 c) -2
b) - o [
E Given that f(x) = x* + 5x + 6 and glx) =x+2, find (f — g)(x).
a) U@ = axid €) (-g@=x+5x+8
h} f=g)x)=x"+4x+8 d} (f=glixl=-x-4x -4
E W f(x) = Vax, find g(x) sothat  [f - g](x) = |6ad-
a) g(x) = 36x* C} glx) = =32
h) gix) = 92* d) gix) = 2ax

n Find the inverse of f{x) = 24x + 3.

Ahmed Ata + 2020-2021



Ahmed Ata s Final Revision for Grade 11 AD

The marks of a class on a math test are normally distributed with 4 = 80 and ¢ = 6. Find the

probability that a randomly selected mark will be between 70 and 90, and use a graphing calculator to
sketch the corresponding area under the curve.

a) > x b) N .
R - & 4 -1 1 3
ziLow=-2.56 z:Low=-1.888 o,2:Up=1.6886
P=0,8876806683 P=0.8044102955

2 | . d)

T 8 =2 0 T
z:Low==1.6888 _o.z:Up=0 |
P=0.4622008477 P=0.4806708387

Xis a random variable representing each prize value what amount Khaled can win when spinning one
time the wheel at the right. All prizes are equally likely to occur.

What is the expected value of Khalid's winnings? AED

a) 120 b) 150

c) 140 d) 175
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2_
Find the value lim ——

=00 KPEES |

. -25
Find the value lim =—=.
x-+25vV3=5

Use the graph of g(x) to find the domain and range of the function.
Yl |
a) D = {x|xeR}, R = (o=, 3]

b) D=(®2R=(3x)
C} D = (—,-3),R = {x|xeR) y =glx) /

d) D=[2%),R=(-%-3)
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Ahmed Ata
E Consider the graph of y = f(x) 7] =]
shown. What is the lim f(x)? /2%
x-2* \. ;/}.? ||
[\ T
A\
\ \
Iy llof 1111} x
0
a) | c) 5
.82 Ll
The limit does not exist. L
n Find the slope of the line tangent o
the graph of function if y = x* + 4
at the point (-2 8).
a) c) o
Which of the following displays a data set that is positively skewed?
—f ¥ % - —t 3 —
a) 30 40 5 60 70 80 ) "% ® w ® n _ ®
h] 1 1 i [ 1 [ d} ‘I- L Il E 1 . L '_.J.

30 4 50 60 70 80 0 40 50 60 70 80
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Describe the function y = x*+ 2x*— 5.

a)  notafunction c) odd function

b)  even function d) afunction thatis neither odd nor even

n X represents the number of heads after three flips of a fair coin. What is true about the theoretical
probability distribution of this random variable?

1 .
a) pPlx=2)= > b) The possible values of Xare 0, 1, and 2

3
c) The possible valuesof Xare 1,2and 3 d) Px=2) =3

If you guess the answers on all 8 questions of a trueffalse quiz, what
is the probability that exactly 5 of your answers will be correct?

7
ﬂ} E C} m
i 7
b) = d
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. XE—Bx+15
Evaluate lim *———~2
_.t‘—t:]- 1_3

b) 2 d)

Find an expression for the slope of
the graph of y = 2x? at any point.

2
a) m=§x2 c) m=6x?

b) m=2 d) m = 6x

The heights of the boys and the girls in a class of fourteen-years-old are represented by the Box-and-
Whisker Plots. What is true about these distributions?

— [ ] —a (;"ul‘

— [ ] ———o Doys

125 130 135 140 145 150 155 160 165 170 175 150 185 190

a) The medians of both distributions are You can find a boy shorter than the
equal shortest girl
c) almost 50% of the boys are taller than d) Both distributions are positively skewed

75% of the girls

Ahmed Ata 2020-2021




Ahmed Ata

e Final Revision for Grade 11 AD

ﬂ Which of the following studies is conducted without a sample?

a)  Anobservational study

c) Anexperiment

b) A survey d} A census
Estimate Iirg f(x), using the graph
below.
—4
-3
ﬂ} 0 C] —00
ﬂ Find the derivative of the function
fam) =250
e ... . 20 - 8m
a) Fm)=-Gszmye ) Fm) = zmye
) = — 29 ) 20 + 8m
b)  rm =~y d ™ EGTmmy
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Find an equation for the instantaneous velocity v(L) if the

path of an object is defined as s(t) = t* — 5t2 + t for any point in time t.

a) v(t)=3t"-10t-1

b) vt =312 - 10t

€) vio=3-10t+1

d) v()=t'—10t+1

n Find the expected value of winning one of the following prizes:

,-'"'---jl- ) --\--""\
a) AED2,100 — \
“_ 15% | AED 1000
b) AED3,450 fn.l?:.;}ﬁ“ 35% ]
| v -
c) AED 1,950 \ AED 2000
) 30%
S __'_'___.-“'
d) AED3,000
Evaluate lim m
X—+em 2xi+x
a) ! c) -3
b) 4 d =

E Find an equation for the instantaneous velocity v(1) if the

path of an object is defined as s(t) = t* — 5t2 + t for any point in time t.

a) wv(t) =3t —10t—1

b) v =312 - 10t

€) vio=32—10t+1

d) v)=t"-10t+1

Ahmed Ata 2020-2021




Ahmed Ata s Final Revision for Grade 11 AD

Find the mean of the probability X ﬂ 1 2 ; 4 5
SRUIDREON S . "l 02 /0.15 0.0 03 |01

Lh
<
-3

a) #=3.55 €) u=ass

b) #=155 d) u=2ss

n 80% of the daily visitors to a shopping mall make purchases. If 150 people visited on Thursday, the
probability that exactly 120 of them make purchases is

jm }120

120 30
a) 150C120(0.8) (0.2 ) 150 C120(0.8)77(0.2

b) 150 5120(9-8}120 d) 150 Cau{ﬂ-z}'izu[[}-ﬂjm

E A survey of students finds that 75% of students have an indoor plant at their home. You take a random
sample of 40 students. Find the mean and standard deviation of the normal approximation of the

binomial distribution.

a) u=30 o= 2.74 b) p= 274 o= 30

c) u=40 c=2.74 d) 4= 30 o= 4.72
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Evaluate ]rll‘lll{—xz +5x = x).

a) s c) =z

b) 3 d ¢

A survey of employees finds that 70% have worked for the organization more than 5 years. You take a
random sample of 30 employees. You want to find the probability that less than 20 employees in your
sample have worked for the organization more than 5 years. Write this probability in probability
notation with the continuity factor included.

a) AX<20.5) c) AX>205)

b) AX>193) d) Ax<105)

If h (x) =x* + Bx—4, find h (-2).

a) —24 c) -12

b) -16 d -8

The mean mass for a group of camels is 335 kilograms. Assume this variable is normally distributed
with a standard deviation of 15 kilograms. If a random sample of 20 camels is taken and the sample
mean is 341 kilograms, what is the z-value of the sample mean?

The zvalue of the sample mean is

a)-1.79 b) 0.4

c) -0.4 d) 1.79

Ahmed Ata 2020-2021




Ahmed Ata s Final Revision for Grade 11 AD

ﬂ Which of the following is an even
function?
B
a)  f) =2 c) flx)=x'+2
p) S =x"-2x d /=2
Which of the following statements Ay
could be used to describe the end
behavior of f(x)? | n
O I Lt
7
fix)
a) Mm f(x)=c0 limf(x) = c) Mim f(x) = oo, limf(x) = —oo

b) Mm f(x)= o, lm /() = d) Mm f(x)= - lmf(x) = -

ﬂ Given
f(x)=vVx—1andg (x) =x*+9, find [fog](x).

g ) x-8
h_) x+8 d) 2 -8

Ahmed Ata + 2020-2021
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f(x)=vVx—1andg(x)=x*+9, find|g - fl(x).

a) x—8 c) m
b} x+8 d} m

The mean nightly rate for hotels in a major city is AED 200. Assume this variable is normally
distributed with a standard deviation of AED 25. If a random sample of 15 hotels is taken and the
sample mean is AED 190, what is the zvalue of the sample mean?

a) -1.55 c) 155

b) 04 d) o4

The mean mass for a group of camels is 335 kilograms. Assume this variable is normally distributed

with a standard deviation of 15 kilograms. If a random sample of 20 camels is taken, what is the
standard error for the sample means?

a) 0.86kg c) 3.35kg
b) 0.75kg d) 15kg
Given

f(x)=vVx—1andg(x)=x*+9, find|g- fl(x).

a) x—8 c) Jx2 -8
b) X8 d) x2+8
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There are 400 crates of food products being delivered. The weights of the crates are normally
distributed with a mean weight of 40 kg and a standard deviation of 6 kg. About how many crates

weigh 34 kg or less?
a) 336 c) 64
b) 16 d) 54

ﬂ Which of the following statements represents one of the

characteristics of the standard normal distribution?

ﬂ Suppose a baseball player hits the ball 64% of the time when at bat. During his next 20 at-bats, what
is the probability that he hits the ball 14 times?

a) 18.8% c) 17.4%

b) 463% d) 15.5%

Ahmed Ata + 2020-2021
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Let a trial be spinning the spinner shown. Determine the probability
of landing on a color that is light blue or blue.

Define a success and the values of pand gin the experiment.

A success is landing on a color that is A success is landing on a color that is
a) not light blue or blue. b) not light blue or blue.
_3 .=t _ro22
P= L’ q L Iy L’ q L
Asuccess is landing on a color that is A success is landing on a color that is
c) light blue or blue. d) light blue or blue.
R _3 1
pP= 4’ q & p g’ q A

When determining if a new pet food is going to be successful, the best type of study to collect the

needed data would be

a)  anobservational study b) anexperiment

C a surve
} y d} a census

Ahmed Ata 2020-2021
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Find the inverse of f{x) =3/ x — 4 + 6 and state its domain.

a) 7 '(x)=(x—6)+4; Domain: (—oc, o)

b) f 1 (x)=(x—6)"+ 4; Domain: (—oc, 0)

Q) f1(x)=(x—6)+ &; Domain: [, o)

d) F{x)=(x+6)°— &; Domain: [0,2¢)

If g(x) = x*—3x+7,find g(2a—5).

a) glea-5)=4a’—16a+17 c) glea—5)=4a’~26a+47
b)  a—s)=sa—26a+27 d) g(2a—5)=4a’—26a+17
. X+5 . . .
Determine whether f{x) = 5 is continuous at x =5 and x = — 5. Justify your reasoning.
X —25
) flx) is continuous at x =5 and flx) has a removable discontinuity at
d
x=—5. c) x =5 and a jump discontinuity at
X= -5,
fx) has an infinite discontinuity at flx) has a jump discontinuityat x=5
b) X=5 and a removable discontinuity at d) and a removable discontinuity at
X=— 5_ X=- 5.
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2800 t°
The formula P(tf) = ———— is used to determine the population of a village, Af), given the

45— 21+ 25

time, £, in years.
What happens to the population as time increases and increases?

a) The population approaches 0. c) The population approaches 2,800.
The population increases without d) The population approaches 700.
bound.

76
- Let f(lx)=3x*+8 and g(x) =/ x—&.Find fo g and state its domain.

4
a) (foglx)=3x—4 for X% c) (fo g)(x)=1/3x*+4 for x= — 33
b d
) (fog)(x)=3x—4 for x= 4 ) (fo g){xj=\/3x2+4 for all real
numbers

The height f1in meters of a small airplane relative to the ground can be modeled by
11 ,

1 105
h(t) = ’n - o o+ o t+ 10 on the interval [8, 18], where tis the time in minutes.

Find the maximum and minimum heights of the airplane.

a} Maximum at about 12; Minimum at Maximum at about 07; Minimum at
about 88 c) about76

b) Maximum at about 97; Minimum at d) Maximum at about 88; Minimum at
about 88 about 76

Ahmed Ata 2020-2021
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Between which consecutive integers do the real zeros for flx) = x*—8x—2lieon [-3, 3]?

—3Zx=—2, —2=x= —1,
a] —1<x<0, and h} —1<x<0, and
2=x=3 2=x=3
—3<xg -2, —2=x<—1,
c) 0<x<1, and d) 0O=sx<1, and
l<x=z? 2=x=3

Given the function f(x) = X =5x— 12, find a such that £~ Y(s8)=2a

a) c) 125
88
b
) 681020 d) 5

An object moves along a path given by the position function f(f) =3 £+ 2t, with the position in

kilometers and time in hours. Which is the average velocity from 1 to 3 hours?

a)  28km/h ) 33km/h

b) 14km/h d) S5km/h
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ﬂ Estimate lim sin( ! } e ——
x==1 +1 T4
s
| F_.l

\—‘T""T‘—.——;—l

3 )‘!Il'ﬂ 1 2 3 4

1a
| 4 -7
3
1-4

a) 1 c) o

b) -1 d) does not exist

H Jamila throws a ball. The height of the ball in meters gand the horizontal distance in meters x of the

1
ball from Jamila can be modeled by g(x) = — " (x—15)%+ 7. Describe the transformations of the

parent function f(x) = x? used to graph g(x).

reflected across the x-axis, compressed reflected across the y-axis, compressed
a)  vertically, translated 15 units right and c) vertically, translated 15 units right and
7 units up 7 units up
| compressed vertically, translated 15 ] reflected across the x-axis, compressed
b d

units right and 7 units up vertically, translated 15 units leftand 7

units up

ﬂ Between which consecutive integers do the real zeros for f{x) = X2+ x+0.05 lieon [-3,3]?

Ahmed Ata 2020-2021
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b)
d)

[f(x)].
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(x—1)-21o graph g(x)

a)

Ahmed Ata

E Use the graph of f(x)
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ﬂ Use the graph to estimate the value of this share of stock after 6 years.

Value of a Share of Stock

}id
36 +

324
28 4
244
20
16 1+

Value (dirhams)

12 4
g8

0 2 4 6 8 10 12 14 16 18 ¥
Number of Years

a) AED16 c) AED15

b) AED10.5 d) AED14

Find the domain and range of the function.

ah

:
;
]
}
EREEEEEERyEEAEEEEEEE
|
i
;i
.n
1 |
[N s SR
3%
|
|
*-
AEEEEEEEPyMAEEEEEEES
o

Xa

_"i;.:_i!‘-_-

Domain: =3<x<2, Domain: =3<x< 2,

a) Range:—6=<y<4 c) Range: —6<= y=6.25

Domain: —6 < x = 4, Domain: —3< x < 2,

b) d)
Range: =35 y<2 Range: =6 < y<6.25
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Describe the set of numbers using set-builder notation.

The setincludes all real numbers less than orequal to 7.

a) {x|x<7,xER) c) {x|x<7, xER}

b} {x|x<7, xeZ} d) (x|x<7,xez)

E Which graph represents the experimental probability distribution represented in this relative

frequency table?
Sum 2 3 4 5 6 7 8
Relative
0.02 0.15 0.19 0.26 0.21 0.11 0.06
Frequency
03 03
0.25 0.25
02 0.2
a) o5 b) 915
0.1 0.1
0.05 0.05
°~2 3 a4 s s 7 8 2 3 a4 s s 7 &8
0.3 0.3
0.25 0.25
02 0.2
€} os 0.15
0.1 0.1
0.05 0.05
0 2 3 4 5 6 7 B 0 2 3 4 5 6 7 8
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2
Estimate lim —;—6_ 2

¥
X = — o0 -BI
i
-6
I
!
a) c) -6 | ;
-8 -6 4—‘:5—7 2 4—-6—8—1%
--..2 1 1
|
|
-4
b) _w d) does not exist ; ,./_/_ |
.-Qf i "
/

Which piecewise function is displayed in the graph?

lj‘i
18 |
I
/N P
/0 VERERE
/ B = |
| A
i N1 X
- .;. .uI a0 " : £ N
8 -6 2 Yo-t-a-t68
A
. L
5
|IJ
!
X+4 x=s —4 x+4 x< —4
a) flx)=1 —(x+1)*+6 —-4<x<2 €) Ax)= —(x+1)*+6 —-4<x=2
0.5x+1 xz2 0.5x+1 x=2
X+4 X< — 4 X+4 x<0
b)  Ax) = —(x+1)2+6 —4<x<2 d) Ax)=] —(x+1)>+6 0<x<2
0.5x+1 X=2 0.5x+1 Xz2
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ﬂ The height f1in meters of a bird flying in the air relative to the ground can be modeled by

1 Ji
h(t) = i T 3 t2+6t+ 15 on the interval [5, 10], where fis the time in minutes.

Find the critical values for A(f).

a) f=6and =8 o) t=8 only

b) There are no critical values. d) t=10only

ﬂ Find two functions fand gsuch that  h(x) = can be written as (fo g)(x).

x—13)?
5 5 2
—y—3- = =_;0x)=x"-3
a) 0=x=3;g(x) 2 9 )= 9(x)
b)
— 5 5
) =x*=3; g(x)= = D A== g0 =x-3
X ¥
ﬂ Which of the following is the domain of f{x) = Fi inR?
X°+7x—18
a) {x|x=-2,x=9 xER) ) {x|x==-9,x=2, x€T}
b) (x|x=-0, x=2, xe R} d) (x|x=5, xeR}
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ﬂ Which functions has a removable discontinuity |
a) f(x)=x"-4 b) f(x)=—-
x=7
x* =25 x-1
= d =
) f()="— ) f="

E Which function is the parent function for g(x) = —3|x + 9|
a) f(x)=3] b) f(x)=|x+9
¢) f(x)=3x+9| d) f(x)=|x

#f(0)=1-x" ana g(r) =4-x", ond ( - 28)().

a) (f -2g)(x) =3 b) (f -2g)(x)=x"~T7
¢) (f -2g)(x)=-3 d) (f -2g)(x)=8-3x"

n Find the average rate of change of the function g(x) = 8x2 it 2x over [— l,l] :

a) —2 b) 0
c) 2 d) «
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E| Which of the following represents the graph of /(X)) = |x3| ?

y 2
L B
II S — i 4».!
2) T b) N
(=] £ 1 U
E : X ) N
s R 4 A o i =
c) = /} d) N7
O x — 1=
[ 5 8

Which of the following functions is odd? §
:

2) f(x)=x"+4x b) f(x)=x"-9 £

¢) f(x)=2x° d) f(x)=—x"+4 |
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